
8D Intersections 

 

1. The diagram shows a curve C with parametric equations: 

𝑥 = 𝑎𝑡2 + 𝑡,  𝑦 = 𝑎(𝑡3 + 8),   𝑡 ∈ ℝ 

Where a is a non-zero constant. Given that 𝐶 passes through the point (-4,0): 

a) Find the value of 𝑎 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



b) Find the coordinates of the points 𝐴 and 𝐵 where the curve crosses the y-axis 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



2. A curve is given parametrically by the equations: 

𝑥 = 𝑡2,   𝑦 = 4𝑡 

The line 𝑥 + 𝑦 + 4 = 0 meets the curve at A. Find the coordinates of A. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



3. The curve in the diagram is given parametrically by the equations: 

𝑥 = 𝑐𝑜𝑠𝑡 + 𝑠𝑖𝑛𝑡,   𝑦 = (𝑡 −
𝜋
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a) Find the point where the curve intersects the line 𝑦 = 𝜋2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



b) Find the coordinates of the points A and B where the curve meets the y-axis 

 


